ggd

ud gd ud ud ooooobod
1 = ooo E 600,000
T2 = ooogs2 E 255,000
T2 = ooo E 255,000
T4 = goo E 115,333
T4 = goo E 115,333
T4 = goo E 115,333
T7 = ooo E 76,333
T7 = ooo E 76,333
T7 = ooo E 76,333
T10 ("] ooo E 64,333
T10 ("] ooo E 64,333
T10 ("] ooo E 64,333
T13 ("] ooo E 59,000
T13 ("] ooo E 59,000
T15 ("] ooo E 55,000
T15 ("] ooo E 55,000
17 = ooo E 52,000
T18 ("] ooo E 46,000
T18 ("] ooo E 46,000
T18 ("] ooo E 46,000
T18 ("] ooo E 46,000
T18 ("] oo E 46,000
T18 ("] ooo E 46,000
T18 ("] ooo E 46,000
T25 ("] ooo E 39,500
T25 ("] ooo E 39,500
T27 = ooo E 37,000
T27 = ooo E 37,000
T27 = ooo E 37,000
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goo
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goo
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goo

goo
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34,500
34,500
32,000
32,000
32,000
29,500
29,500
28,000
27,000

26,000
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